[ Efficiency vs vertpos |
- 0.2

CLORT: SRR AR S e
Q.. qF : : :

U L e e e
2 o . B .

S 0.14F oo S

2 :

R R RS o

S SRS RO .

0.08fF---------- fonenes

.08 +---veefereeens -

0.04F
0.02

o

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch2

~ 0.1

e e S
0 E : : : : :
L S | S HA S
> F . . . . H

8 E H . H H H
L E e S (RS
3} E : : : : :
£0.06F

(] = ]

0.05F---1
0.04
0.03
0.02
0.0

=30 -20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

104

Ratio
N

Sim. PV z (cm)



	Contents
	Page 1


